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Introduction
At RAN2 NB-IoT Ad-hoc #2 the possible TB sizes for SI messages other than NB-SIB1 agreed by RAN1 Ad-hoc#2 were discussed, resulting in an LS reply expected to be sent to RAN1#85 [1] that asks if, in addition to the TBS values proposed by RAN1, it is possible to add two new TBS values for NB-SI messages other than NB-SIB1, specifically 56 and 120 bits. If, according to RAN1, this is not possible, then the already-agreed TBS values will be used by RAN2.
This contribution provides a proposal for the RAN1 reply to the expected RAN2 LS.
TBS for SI-messages
The RAN1 agreements on SI scheduling (for other than NB-SIB1) are as follows [1]:
· SI scheduling
· SI scheduling information is provided in NB-SIB1.
· One transport block of an SI message is transmitted over 8 consecutive valid DL subframes. 
· SI scheduling information is given by –
· TBS (2 bits)
· Values to be decided by RAN2, possible values are {208, 256, 328, 440, 552, 680}
· Repetition pattern
· Number(s) of repetitions (set of values up to RAN2)
· Time interval(s) between repetitions (set of values up to RAN2)
· Note that which is the first subframe for the repetition pattern relative to the start of the SI window is up to RAN2 to define. 
[bookmark: _GoBack]For any new TBS to be introduced for NB-SI messages, it must have no impact in the RAN1 specifications or agreements on the existing RAN1 design for NPDSCH, and allow the specification of NB-SI scheduling to still be confined to TS 36.331 as it is at present. Specifically, a subframe which is not used for an NB-SI message with the currently defined TBS values (e.g. 208 bits) should also not be used for the case where the TBS is 56 or 120 bits. This can be done by selecting the numbers of subframes (i.e. NSF in Table 1) for TBS = 56,120 bits to be an integral divisor of 8 subframes. As highlighted in blue in Table 1, ISF following this restriction can be either 0 or 1. However, for ISF = 0 (NSF = 1), the coding rate for TBS=120 bits is considered too high for NB-SI messages (which are transmitted taking the UEs in the worst-case coverage into account). Hence it is proposed to choose ISF = 1 (NSF = 2) for both 56 bits and 120 bits.
[bookmark: _Ref450582038]Table 1: Transport block size (TBS) table.
	

	


	
	0(1)
	1(2)
	2(3)
	3(4)
	4(5)
	5(6)
	6(8)
	7(10)

	0
	16
	32
	56
	88
	120
	152
	208
	256

	1
	24
	56
	88
	144
	176
	208
	256
	344

	2
	32
	72
	144
	176
	208
	256
	328
	424

	3
	40
	104
	176
	208
	256
	328
	440
	568

	4
	56
	120
	208
	256
	328
	408
	552
	680

	5
	72
	144
	224
	328
	424
	504
	680
	

	6
	88
	176
	256
	392
	504
	600
	
	

	7
	104
	224
	328
	472
	584
	680
	
	

	8
	120
	256
	392
	536
	680
	
	
	

	9
	136
	296
	456
	616
	
	
	
	

	10
	144
	328
	504
	680
	
	
	
	

	11
	176
	376
	584
	
	
	
	
	

	12
	208
	440
	680
	
	
	
	
	



Proposal 1: Inform RAN2 that (ITBS = 1, ISF = 1) can be chosen for TBS=56 bits and (ITBS = 4, ISF = 1) can be chosen for TBS=120 bits if the above two TBS values are to be additionally introduced for NB-SI transmission other than NB-SIB1.
[bookmark: _Ref129681832]Conclusions
[bookmark: _Ref124589665][bookmark: _Ref71620620][bookmark: _Ref124671424]In this contribution, the TBS values for NB-SI transmission for other than NB-SIB1 are discussed, and the following is proposed:
Proposal 1: Inform RAN2 that (ITBS = 1, ISF = 1) can be chosen for TBS=56 bits and (ITBS = 4, ISF = 1) can be chosen for TBS=120 bits if the above two TBS values are to be additionally introduced for NB-SI transmission other than NB-SIB1.
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